
     

 

(DCM01) 

Total No. of Questions : 9]      [Total No. of Pages : 02 

M.COM. DEGREE EXAMINATION, MAY - 2017 

(First Year) 

Perspectives of Management (RR) 

Time : 3 Hours  Maximum Marks : 70  

Section - A 

Answer any four of the following 

(4× 5 = 20) 

 Q1) a) Purpose of management. 

 °ÆæÿÓçßý×ê E§óþ®Ô¶ýÅ… 

  b) Co-ordination 

 çÜÐ@þ$¯@þÓÄ¶ý$… 

  c) MBE 

 MBE   

d) Game theory 

 VóüÐŒþ$ íÜ§é®…™èþ… 

  e) Centralisation. 

 Móü…{©MæüÆæÿ×ý 

  f) Leadership 

 ¯éÄ¶ý$Mæü™èþÓ… 

  g) Critical path method 

 MìüÏçÙt Ð@þ*ÆæÿY ç³§æþ®† 

  h) Social responsibility. 

 ÝëÐ@þ*hMæü »ê«§æþÅ™èþ 

 

Section – B 

Answer any Two of the following 

(2× 10 = 20) 
Q2) State the functions of management. 

°ÆæÿÓçßý×ê Ñ«§æþ$Ë¯@þ$ Væü*Ça õ³ÆöP¯@þ$Ð@þ¬. 

   



Q3) Bringout the objectives of planning. 

{ç³×êãMîüMæüÆæÿ×ý Äñý¬MæüP «§óþÅÄ¶ý*Ë¯@þ$ ™ðþË$µÐ@þ¬. 

 

Q4) Describe the steps in decision making process. 

°Ææÿ~Ä¶ý$ {ç³“MìüÄ¶ý$ÌZ VæüË ÑÑ«§æþ §æþÔ¶ýË¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 

 

Q5) Distinguish between formal and informal organizations. 

¸ëÆæÿÃÌŒý Ð@þ$ÇÄ¶ý¬ C¯Œþ¸ëÆæÿÃÌŒý Ð@þÅÐ@þçÜ®Ë Ð@þ$«§æþÅ Ñ¿ôý¨…ç³#Ð@þ¬. 

 

Section – C 

Answer any Two of the following 

(2× 15 = 30) 

Q6) What are the various sources of recruitment? 

íÜº¾…¨  ¿¶ýÈ¢ Äñý¬MæüP ÑÑ«§æþ B«§éÆ>ÌôýÑ? 

 

Q7) Briefly explain about executive development programmes. 

GMìüjMæü*ÅsìýÐŒþ AÀÐ@þ– ®̈ M>ÆæÿÅ“MæüÐ@þ*Ë¯@þ$ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q8) Describe about process of control. 

°Ä¶ý$…{™èþ×ý Äñý¬MæüP {ç³“MìüÄ¶ý$¯@þ$ Væü*Ça ™ðþË$µÐ@þ¬. 

 

Q9) Examine the contribution of business organisations towards society. 

çÜÐ@þ*f…ÌZ ÐéÅ´ëÆæÿ çÜ…çÜ®Ë Äñý¬MæüP çÜçßýM>Æ>°² Væü*Ça ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬ 

 

 

���� 

 

 

 

  



(DCM02) 

Total No. of Questions : 9]      [Total No. of Pages : 02 

M.Com. DEGREE EXAMINATION, MAY - 2017 

(First Year) 

BUSINESS ENVIRONMENT 

Time : 3 Hours  Maximum Marks : 70  

Section - A 

Answer any Four of the following 

(4× 5 = 20) 

 Q1) a) Business Ethics 

 ÐéÅ´ëÆæÿ ±† °Ä¶ý$Ð@þ*Ë$. 

  b) Five year plans 

 ç³…^èþÐ@þÆæÿÛ ç³×êãMæüË$ 

  c) Socialistic economy 

 ÝëÐ@þ$ÅÐé§æþ BÇ®Mæü Ð@þÅÐ@þçÜ¦ 

  d) Privatisation 

 [Oò³ÐóþsîýMæüÆæÿ×ý 

  e) Economic reforms 

 BÇ®Mæü çÜ…çÜPÆæÿ×ýË$ 

  f) Balance of trade 

 Ð@þÆæÿ¢Mæü ÔóýçÙ… 

  g) MNCs 

 MNC Ë$. 

  h) Foreign Investments 

 Ñ§óþÖ ò³r$tºyæþ$Ë$ 

 

Section – B 

Answer any Two of the following 

(2× 10 = 20) 

Q2) Discuss about impact of technology on business. 

ÐéÅ´ëÆæÿ…Oò³ Ýë…Móü†Mæü™èþ Äñý¬MæüP {ç³¿êÑMæü™èþ¯@þ$ Væü*Ça ^èþÇa…ç³#Ð@þ¬. 

   

Q3) Examine the significance of corporate governance. 



M>ÆöµÆóÿsŒý VæüÐ@þÆðÿ²̄ ŒþÞ Äñý¬MæüP {́ ë«§é¯@þÅ™èþ¯@þ$ Væü*Ça ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬. 

Q4) Enumerate the significance of economic planning in India. 

¿êÆæÿ™èþ§óþÔ¶ý…ÌZ BÇ®Mæü {ç³×êãMîüMæüÆæÿ×ý Äñý¬MæüP {́ ë«§é¯@þÅ™èþ¯@þ$ Ñç³#ÎMæüÇ…ç³#Ð@þ¬ 

 

Q5) Bringout the features of mixed economy. 

Ñ$“Ô¶ýÐ@þ$ BÇ®Mæü Ð@þÅÐ@þçÜ¦ Äñý¬MæüP Ë„æü×êË¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

Section – C 

Answer any Two of the following 

 (2× 15 = 30) 

Q6) Listout the problems faced by and benefits with MNCs. 

MNC Ë$ G§æþ$ÆöP¯óþ çÜÐ@þ$çÜÅË$ Ð@þ$ÇÄ¶ý¬ Ðésìý™ø VæüË {ç³Äñý*f¯éË @̄þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

Q7) Explain the position of Indian foreign trade. 

¿êÆæÿ¡Ä¶ý$ Ñ§óþÖ Ð@þÆæÿ¢Mæü… Äñý¬MæüP Ýë¦̄ é°² ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q8) How to attain equilibrium in balance of payments? 

ð̂þÍÏ…ç³#Ë ÔóýçÙ…ÌZ çÜÐ@þ$™èþ$ËÅ™èþ¯@þ$ H Ñ«§æþ…V> Ýë«̈ …ç³Ð@þ^èþ$a? 

 

Q9) Give an overview on Indian monetary policy. 

¿êÆæÿ¡Ä¶ý$ BÇ®Mæü Ñ«§é¯é°² Væü*Ça ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬. 

 

 

���� 
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Total No. of Questions : 9]      [Total No. of Pages : 02 

M.Com. DEGREE EXAMINATION, MAY - 2017 

(First Year) 

MARKETING MANAGEMENT 

Time : 3 Hours  Maximum Marks : 70  

Section - A 

Answer any Four of the following 

(4× 5 = 20) 

 Q1) a) Consumerism 

 Ñ°Äñý*Væü§éÇ™èþÓ… 

  b) Market segmentation 

 Ð@þ*ÆðÿPsŒý Q…yæþ¯@þ 

  c) Organisational market 

 Ð@þÅÐ@þÝë¦Væü™èþ Ð@þ*ÆðÿPsŒý 

  d) Packaging 

 ´ëÅMóüh…VŠü 

  e) Unit pricing 

 Ä¶ýÊ°sŒý «§æþÈMæüÆæÿ×ý 

  f) Nature of channels 

 ç³…í³×îý Ð@þ*Æ>YË çÜÓ¿êÐ@þ… 

  g) Service sector 

 õÜÐé Ææÿ…Væü…. 

  h) Strategic control 

 Ð@þNÅà™èþÃMæü °Ä¶ý$…{™èþ×ý 
 

Section – B 

Answer any Two of the following 

(2× 10 = 20) 
Q2) Discuss about approaches to study marketing concept. 

Ð@þ*ÆðÿPsìý…VŠü ¿êÐ@þ¯@þ¯@þ$ A«§æþÅÄ¶ý$¯@þ… ^óþõÜ Ñ«§é¯éË¯@þ$ è̂þÇa…ç³#Ð@þ¬. 

   

Q3) Describe the process of marketing planning. 



Ð@þ*ÆðÿPsìý…VŠü {ç³×êãMîüMæüÆæÿ×ý Äñý¬MæüP {ç³“MìüÄ¶ý$¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 

Q4) Listout the problems in consumer decision making process. 

Ñ°Äñý*Væü§éÆæÿ$° °Ææÿ~Ä¶ý$ {ç³“MìüÄ¶ý$ÌZ VæüË çÜÐ@þ$çÜÅË¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

Q5) Write about product planning process. 

Ð@þçÜ$¢ {ç³×êãMîüMæüÆæÿ×ê {ç³“MìüÄ¶ý$¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

 

Section – C 

Answer any Two of the following 

(2× 1 5 = 30) 

Q6) Define price. Explain its types. 

«§æþÆæÿ¯@þ$ °ÆæÿÓ_…_, §é° ÆæÿM>Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q7) Elucidate the nature and scope of non-business organisations. 

ÐéÅ´ëÆóÿ™èþÆæÿ çÜ…ççÜ¦Ë Äñý¬MæüP çÜÓ¿êÐ@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³Ç«̈ ° ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬ 

 

Q8) Describe the steps in marketing research process. 

Ð@þ*ÆðÿPsìý…VŠü ç³ÇÔZ«§æþ¯é {ç³“MìüÄ¶ý$ÌZ §æþÔ¶ýË¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 

 

Q9) Critically examine the consumer behaviour models given by Howard and Sheth. 

ýàÐ@þÆŠÿz Ð@þ$ÇÄ¶ý¬ õÙ™Œþ ^óþ CÐ@þÓºyìþ¯@þ Ñ°Äñý*Væü§éÆæÿ$° {ç³Ð@þÆæÿ¢̄ é ¯@þÐ@þÊ¯éË¯@þ$ ÑÐ@þ$ÆæÿØ¯é™èþÃMæü…V> 
ÑÐ@þÇ…ç³#Ð@þ¬. 

 

 

���� 

 

 

 

  



(DCM 04) (NR) 
Total No. of Questions : 9]              [Total No. of Pages : 07 

M.Com. (Previous) DEGREE EXAMINATION, MAY – 2017 

First Year 

FINANCIAL MANAGEMENT (NR) 

(Paper – IV) 

Time : 3 Hours   Maximum Marks: 70        

 

SECTION - A 

    Answer any five of the following Questions             (5 × 4 = 20) 

 

 

Q1) a) Financial Planning. 

  Ñ™èþ¢ {ç³×êãMæü. 

 b) Wealth maximization. 

  çÜ…ç³§æþ VæüÇïÙtMæüÆæÿ×ý. 

 c) Financial Assets. 

  Ñ™èþ¢ BçÜ$¢Ë$. 

 d) Investment criteria. 

  ò³r$tºyìþ {ç³Ð@þ*×ý…. 

 e) Cash flows. 

  ¯@þVæü§æþ$ {ç³ÐéàË$. 

 f) Cost of debt. 

  Aç³š Ð@þÅÄ¶ý$… QÈ§æþ$. 

 g) E.O.Q. 

  C.K.Mæü$Å. 

 h) Going Concern Value. 

  ¯@þyæþ$çÜ$¢̄ @þ² çÜ…çÜ¦ ÑË$Ð@þ. 

 

 



 

 

SECTION - B 

         Answer any two of the following                    (2 × 10 = 20) 

 

 

Q2) What is finance functions? Explain the nature and scope of financial                           

management 

 Ñ™èþ¢ Ñ«̈  A¯@þV>¯óþÑ$? Ñ™èþ¢ °ÆæÿÓçßý×ý Äñý¬MæüP çÜÓ¿êÐ@þÐ@þ¬¯@þ$, ç³Ç«̈ ° ÑÐ@þÇ…ç³#Ð@þ¬. 

 

       

Q3) Explain about the discounted cash flow techniques used in capital budgeting 

proposals. 

 Ð@þÊË«§æþ¯@þ ºyðþjsìý…VŠü {ç³†´ë§æþ¯@þË ÑÔóýÏçÙ×ýÌZ Eç³Äñý*W…^èþ$ yìþÝûP…sñýyŠþ ¯@þVæü§æþ$ {ç³Ðéçßý 

ç³§æþª™èþ$Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

 

Q4) What is cost of capital? Explain the procedure for determining weighted average 

cost of capital. 

 Ð@þÊË«§æþ¯@þ Ð@þÅÄ¶ý$… A¯@þV>¯óþÑ$? ¿êÇ™èþ çÜVæür$ Ð@þÊË«§æþ¯@þ Ð@þÅÄ¶ý*°² °Ææÿ~Æÿ¬… è̂þ$ 

Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

  

Q5) Explain the need for valuation of equity shares? Also discuss the methods of 

valuation of equity shares. 

 Ýë«§éÆæÿ×ý ÐésêË Ð@þ$¨…ç³# BÐ@þÔ¶ýÅMæü™èþ¯@þ$ ÑÐ@þÇ…_, Ðésìý Ð@þÊÌêÅ…Mæü¯@þ ç³§æþª™èþ$Ë¯@þ$ 

Væü$Ç…_ {ÐéÄ¶ý¬Ð@þ¬. 

 



 
 

SECTION - C 

    Answer any two of the following Questions           (2 × 15 = 30) 

 

Q6) A company is considering an investment proposal to install a new machinery 

which will cost Rs. 6,00,000. The machine has a life of 5 years after which it has 

salvage value of Rs. 1,00,000. The company’s tax rate is 50% and it uses straight 

line method of depreciation. The estimated cash flows before depreciation and 

tax from the proposed investment proposal are as follows: 

  Year CFBDT 

   Rs. 

1 1,20,000 

2 1,30,000 

3 1,50,000 

4 1,80,000 

5 2,50,000 

 Compute the following: 

a) Payback period. 

b) Average Rate of Return. 

c) Net present value at 10% discount rate. 

d) Internal Rate of Return. 

e) Profitability & Index of 10% discount rate. 

 
 JMæü Mæü…ò³± Ææÿ*. 6,00,000 QÈ§æþ$ VæüË JMæü “Mö™èþ¢ Ä¶ý$…{™é°² Ýë¦í³…^èþsê°Mìü AÐ@þçÜÆæÿOÐðþ$¯@þ 

ò³r$tºyìþ {ç³†´ë§æþ¯@þ¯@þ¯@þ$ ç³ÇÖÍçÜ$¢…¨. B Ä¶ý$…{™èþÐ@þ¬ iÑ™èþ M>Ë… 5 çÜ…Ð@þ™èþÞÆ>Ë$. §é° 
AÐ@þÔóýçÙç³# ÑË$Ð@þ 1,00,000. Mæü…ò³± ç³ @̄þ$² Æóÿr$ 50%. D Mæü…ò³± íÜ¦Ææÿ ÐéÆÿ¬§éË ç³§æþª†¯@þ 
™èþÆæÿ$Væü$§æþË¯@þ$ ÌñýMìüPçÜ$¢…¨. ™èþÆæÿ$Væü$§æþË, ç³¯@þ$² ¡íÜ ÐóþÄ¶ý$Mæü Ð@þ¬…§æþ$ CFBDT {ç³†´ë¨™èþ 
ò³r$tºyìþ Äñý¬MæüP A…^èþ¯é ÐóþÄ¶ý$ºyìþ¯@þ ¯@þVæü§æþ$ {ç³ÐéàË$ “Mìü…¨ Ñ«§æþÐ@þ¬V> E¯@þ²Ñ. 

  çÜ… CFBDT 

   Ææÿ*. 

1 1,20,000 
2 1,30,000 
3 1,50,000 
4 1,80,000 
5 2,50,000 

 



 

  
 “Mìü…¨ Ðésìý° Væü×ìý…^èþ…yìþ. 

 a) †ÇW ^ðþÍÏ…ç³# M>Ë…. 

 b) çÜVæür$ Æ>ºyìþ Æóÿr$. 

 c) 10% yìþÝûP…sŒý Æóÿr$ÌZ °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ð@þ. 

 d) A…™èþÆæÿY™èþ Æ>ºyìþ Æóÿr$. 

 e) 10% yìþÝûP…sŒý Æóÿr$ÌZ Ìê¿¶ý§éÄ¶ý$Mæü™èþ çÜ*`. 

 

Q7) Assuming no taxes and given the earnings before interest and taxes (EBIT).                 

Interest (I) at 10% and equity capitalization rate (Ke) below, calculate the total 

market value of each firm. 

  Firm EBIT(Rs.) IRs. Ke 

  X 2,00,000 20,000 12% 

  Y 3,00,000 60,000 16% 

  Z 5,00,000 2,00,000 15% 

  W 6,00,000 2,40,000 18% 

 

 ¨Væü$Ð@þ¯@þ CÐ@þÓºyìþ¯@þ A…^èþ¯é ÐóþíÜ¯@þ ç³¯@þ$² Ìôý° Ð@þyîþz Ð@þ$ÇÄ¶ý¬ ç³¯@þ$² Ñ«̈ …^èþMæü Ð@þ¬…§æþ$ 
(EBIT) E¯@þ² BÇj™éË, 10 Ô>™èþ… Ð@þ§æþª Ð@þyîþz (I), Ð@þ¬ÇÄ¶ý¬ Ýë«§éÆæÿ×ý Ð@þÊË«§æþ¯@þ Ð@þÅÄ¶ý$… 
(Ke) B«§éÆæÿ…V>, {ç³† çÜ…çÜ¦ Ððþ¬™èþ¢… Ð@þ*ÆðÿPsŒý ÑË$Ð@þ¯@þ$ ÌñýMìüP…^èþ$Ð@þ¬. 

  çÜ…çÜ¦ EBIT (Ææÿ*.) Ð@þyîþz (I) Ææÿ*. Ke 

  X 2,00,000 20,000 12% 

  Y 3,00,000 60,000 16% 

  Z 5,00,000 2,00,000 15% 

  W 6,00,000 2,40,000 18% 

  

 



Q8) XYZ Ltd has the following capital structure: 

  Type of Capital Book Value Market Value After Tax Cost 

  Long term Debt 30,00,000 28,00,000 4.8% 

  Preference Stock 1,02,000 1,50,000 9.0% 

  Common stock 11,08,000 25,00,000 13.0% 

  Total 42,10,000 54,50,000 

 Calculate weighted average cost of capital using 

a) Book value weights and 

b) Market value weights. 

 XYZ  çÜ…çÜ¦ Ð@þÊË«§æþ¯@þ °Æ>Ã×ýÐ@þ¬ “Mìü…¨ Ñ«§æþ…V> E¯@þ²̈ . 

  Ð@þÊË«§æþ¯@þ ÆæÿMæü… ç³#çÜ¢Mæüç³# ÑË$Ð@þ Ð@þ*ÆðÿPsŒý ÑË$Ð@þ ç³¯@þ$² ™èþÆæÿ$Ðé™èþ  

   Ææÿ*. Ææÿ*. Ð@þÅÄ¶ý$… 

  ©ÆæÿƒM>Ëç³# Ææÿ$×ý… 30,00,000 28,00,000 4.8% 

  B«̈ MæüÅç³# ÐésêË$ 1,02,000 1,50,000 9.0% 

  Ýë«§éÆæÿ×ý ÐésêË$ 11,08,000 25,00,000 13.0% 

  Ððþ¬™èþ¢… 42,10,000 54,50,000 

 a) ç³#çÜ¢Mæüç³# ÑË$Ð@þ (weights) Ð@þ$ÇÄ¶ý¬ 

 b) Ð@þ*ÆðÿPsŒý ÑË$Ð@þ (weights) {ç³M>Ææÿ… ¿êÇ™èþ çÜVæür$ Ð@þÊË«§æþ¯@þ Ð@þÅÄ¶ý$Ð@þ¬¯@þ$ 

ÌñýMìüP…ç³#Ð@þ¬.  

 

Q9) Calculate operating and financial leverage under  situation I and II and financial 

plan A and B respectively from the following information relating to operating 

and capital structure of a company. 



 What are the combinations of operating and financial leverage which gives the 

highest and least value. Installed capacity is 2000. Units Annual production and 

sales 50% of installed capacity 

 Variable cost Rs. 10 per unit 

 Selling price per unit is Rs. 20. 

 Fixed Cost: 

  Situation I Rs. 4,000 

  Situation II Rs. 5,000 

                          Financial Plan 

 

 

   A B 

 Capital Structures: 

1) Equity Rs. 5,000 Rs. 15,000 

2) Debt (Cost @10%) 15,000 5,000 

  20,000 20,000  

 

 

  

  



 ¨Væü$Ð@þ¯@þ C_ā @þ Æðÿ…yæþ$ ç³ÇíÜ¦™èþ$ËÌZ Ð@þ$ÇÄ¶ý¬ A, B ´ëÏ̄ @þÏ {ç³M>Ææÿ… Bç³Æóÿsìý…VŠü Ð@þ$ÇÄ¶ý¬ 

BÇ®Mæü ÍÐ@þÆóÿhË¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. Mæü…ò³± Äñý¬MæüP Bç³Æóÿsìý…VŠü, BÇ®Mæü Ð@þ$ÇÄ¶ý¬ Ð@þÊË«§æþ¯@þ 

°Æ>Ã×ý… DÑ«§æþ…V> E…¨. 

 H Bç³Æóÿsìý…VŠü Ð@þ$ÇÄ¶ý¬ BÇ®Mæü ÍÐ@þÆóÿhË MæüËÆÿ¬Mæü òßý^èþ$a Ð@þ$ÇÄ¶ý¬ ™èþMæü$PÐ@þ ÑË$Ð@þ¯@þ$ 

C^èþ$ā ø Mæü¯@þ$Vö¯@þ$Ð@þ¬. C_ā @þ ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ 2000 Ä¶ýÊ°r$Ï çÜ…Ð@þ™èþÞÆæÿ E™èþµ†¢ Ð@þ$ÇÄ¶ý¬ 

AÐ@þ$ÃM>Ë$ C_ā @þ ÝëÐ@þ$Ææÿ®Ð@þ¬ÌZ 50% V> E…yæþ$¯@þ$, ^èþÆæÿ Ð@þÅÄ¶ý$Ð@þ¬ Ä¶ýÊ°sŒý JMìüP…sìýMìü 

Ææÿ*. 10 Ä¶ýÊ°sŒý AÐ@þ$ÃMæü… «§æþÆæÿ Ææÿ*. 20. 

 íÜ¦Ææÿ Ð@þÅÄ¶ý$Ð@þ¬: 

  ç³ÇíÜ¦† I {ç³M>Ææÿ… Ææÿ*. 4,000 

  ç³ÇíÜ† II {ç³M>Ææÿ… Ææÿ*. 5,000 

         BÇªMæü {ç³×êãMæü 

 

 

  

    A B 
 Ð@þÊË«§æþ¯@þ Mæü*Ææÿ$µ: 

1) Ýë«§éÆæÿ×ý Ðésê Ð@þÊË«§æþ¯@þ…. 5,000 15,000   

2) Ææÿ$×ý… (Ð@þÅÄ¶ý$… 10%) 15,000 5,000 

   20,000 20,000 

 

 

� � � 

 



(DCM05) 

Total No. of Questions : 9]      [Total No. of Pages : 02 

M.Com. DEGREE EXAMINATION, MAY - 2017 

First Year 

Human Resource Management 

Time : 3 Hours  Maximum Marks : 70  

SECTION - A 

Answer any four of the following 

(4× 5 = 20) 

 Q1)  

  a) Objectives of HRM 

 HRM  Äñý¬MæüP «§óþÅÄ¶ý*Ë$ 

  b) HR forecasting 

 HR  A…^èþ¯é 

  c) 360∘ method 

 360∘ ç³§æþ®† 

  d) Time rate method 

 M>Ë Æóÿr$ ç³§æþ®† 

  e) Grievance settlement  

 ™èþV>§éË ç³ÇÚëPÆæÿ… 

  f) Lecture method 

 ÌñýMæüaÆŠÿ ç³§æþ®† 

  g) Recruitment 

 ¿¶ýÈ¢ 

  h) Performance appraisal  

 °ÆæÿÓÆæÿ¢̄ é çÜÒ$„æü 

SECTION – B 

Answer any Two of the following 

(2× 10 = 20) 

Q2) State various methods of job analysis. 

gê»Œý ÑÔóý ÏçÙ×ê ç³§æþ®™èþ$Ë¯@þ$ õ³ÆöP @̄þ$Ð@þ¬. 

 

 



 

Q3) Describe the steps in selecting an employee. 

JMæü E§øÅW G…í³MæüÌZ VæüË §æþÔ¶ýË¯@þ$ Ð@þÇ~…ç³#Ð@þ¬ 

  

 Q4) Write a note on managerial development techniques.  
      

  °ÆæÿÓçßýMæü AÀÐ@þ–¨® Ððþ$â¶ýMæü$Ð@þË¯@þ$ Væü*Ça ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬. 

 

Q5) Discuss various types of employees participation in management.  

 °ÆæÿÓçßý×ýÌZ E§øÅVæü$Ë$ ´ëÌZȲ óþ ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ Væü*Ça ^èþÇa…ç³#Ð@þ¬ 

 

SECTION – C 

Answer any Two of the following 

 (2× 15 = 30) 

 Q6) Discuss about actions taken against indiscipline and absenteeism of employees. 

  E§øÅVæü$Ë “MæüÐ@þ$Õ„æü×êÆæÿíßý™èþ ^èþÆæÿÅË$ Ð@þ$ÇÄ¶ý¬ OVðüÆ>ÓfÈ™èþ¯@þ… Oò³ ¡çÜ$Mø¯óþ è̂þÆæÿÅË¯@þ$ Væü*Ça ^èþÇa…ç³#Ð@þ¬ 

 

Q7) Describe the role of trade unions in strengthen the relationship between employees and 

management.   

 E§øÅVæü$Ë$ Ð@þ$ÇÄ¶ý¬ °ÆæÿÓçßý×ýË Ð@þ$«§æþÅ çÜ…º…«§éË¯@þ$ ºÌZõ³™èþ… ó̂þÄ¶ý¬rÌZ Ð@þÆæÿ¢Mæü çÜ…çœ*Ë ´ë{™èþ¯@þ$ 
 Ð@þÇ~…ç³#Ð@þ¬ 

 

Q8) State the working of HRD agencies. 

HRD  HgŒý±ÞË Äñý¬MæüP ç³°¡Ææÿ$¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

 Q9) Explain about various concepts of inventory management.   

  C¯ðþÓ…rÈ °ÆæÿÓçßý×ý Äñý¬MæüP ÑÑ«§æþ ¿êÐ@þ¯@þË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

���� 

 
 


